Triangle Congruence Proofs Task Cards | ~ANSWER KEY"

1. Given: Z1=22; E bisects #DCB
'~ Prove: ACDA=ACBA '

Statements Reasons
1. AC bisects ZDCB ) 1. Given .
2. Z4d=,5 2. Definition of Angle Bisector
3. L1=22 3. Given
4. A=/3 ' 4. Vertical Angle Congruence Thm.
5. £2=/3 N ' " 5. Transitive Property of Congruence (3,4)
6. CA=CA 6. Reflexive Property of Colng_ruence
7. ACDA=ACBA : 7. ASA

2. Given; E bisects ZDEF: £D=/F

G E
Prove: ADGE =aFGE _
Statements Reasons _ F
1. & bisects ZDEF 1. Given
2. Z/DEG= LFEG 2. Definition of Angle Bisector
3. LD=sF o 3. Given |
4. GE=GE o 4. Reflexive 'P-i;opgéx"ty of Congjruencé.
5.

ADGE =AFGE 3. AAS

3. Given: E bisects 5—5; LC=4D
Prove: AABD =aEBC

Statements Reasons
1. £C=4D 1. Given °
2 AE bisects DC ' 2. Given
3. CB=8BD 3. Definition of Segment Bisector
4. ZABD=/CBE 4. Vertical Angle Congruence Thm.
5. AABD=aEBC BLASA T
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4,  Given: ATDl[_C_E— and BD =BC
* Prove: AABD=AEBC .

Statements

AD||CE

£LDz=,/C

LA=ZLE

BD =BC

AABD =AEBC

A e

Reasons

5. Given: QB and E bisect each other

Prove: EH@ |
Statements
1. @ and E? bisect each other
=00
506
ZHOT = #DOG
AHOT =ADOG
LH=/D

HT || GD

N0 oW N
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. Given _

. Alternate Interior Angle Thm.
Alternate Interior Angle Thm.
. Given |

£asons
Given
. Definition of Segment Bisector

. Definition of Segment Bisector
Vertical Angle Congruence Thm.
. SAS | |

. CPCTC

. Alternate Interior Angle Converse Thm,



P
6. Given: BR|JAD; DX bisects ZBDA

Prove: ADBX is isosceles

Statements Reasons
1. BR||AD 1. Givén
2. ZXDA=BXD 2. Alternate Interior Angle Thm.
3. DX bisects £BDA 3. Given.
4. /BDXz=/XDA 4. Definition of Angle Bisector
5. ZBDX = /BXD 5. Transitive Property of Congruence (2,4)
6. DB=BX 6. Baseé Angles Thm. Converse
- 7. ADBX isisosceles 7. Definition of Isosceles Triangle

7.  Given: AB||DE; AE bisects BD
Prove: AABC =aAEDC

Statements Reasons
1. AE bisects BD 1. Given
2. BC=DC | 2. Definition of Segment Bisector
3. AB||DE 3. Given o
4, LB=/D 4. Alternate Interior Angle Thm.
5. ZACB=/ZDCE 5. Vertical Angle Congruence Thm.
- 6. AABC =AEDC 6. ASA
8. Given: AK=AR and KT =RT
Prove: AT is an angle bisector -
Statements Reasons
1. AK=AR _ , 1. Given
2. KT=RT - 2. Given
3. AT=AT 3. Reflexive P-roperty of Congruence
4. AART =AAKT 4. 588 '
5. ZRAT = LTAK 5. CPCTC
6. AT isan angle bisector 6.

Definition of Angle Bisector
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9.  Given: &Efgﬁ, %L%; &HLR_S
Prove: APRS =AQSR

Statements Reasons o a
1. QS=PR | o 1. Given
2. PSLRS 2. Given
3. QRLRS 3. Given
4, £S5 and ZR are right angles 4. Definition of Perpendicular Lines
5. APRS and AQSR are rtght triangles 5. Definition of Right Triangles
6. RS=RS " 6. Reflexive Property of Congruence
7. APRS =AQ0SR 7. HL
10. Given: L1=/2
Prove: aXYZ is isosceles
Statements Reasons
1. Llzs2 1. Given ,
2. ZVand Z3 are supplementary 2. Linear Pair Postulate
3. £2and Z4 are suppiementary 3. Linear Pair Postulate
4. B=s4 4. Congruent Suppiements Thm.
5, XY:XZ 5. Base Angles Thm. Converse
6. aXYZ isisosceles 6. Definition of Isosceles Triangle
11, Given: AWand LY are raght angles VVXEE o
" Prove: AXWZ =aXYZ. o |
Statements Reasons
1. ZWand ZY are right angles 1. Given
2. aXWZ and AXYZ areright triangles 2. Definition of Right Triangle
3. WX=XY 3. Given
4. XZ=XZ - o 4. Reflexwe Proper’cy of Congruence
5. AXWZ =aXYZ | 5. HL
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12, Given: GHI|IJ: ZIGJ= £HJG

Prove: 1G=HJ 1 "
Statements. . .. . Reasons -

1. G_H—IID 1. Given

2. ZIGJ=2HJG 2. Given

3. ZHG)=21UG 3. Alternate Interior Angles Thm.

4. GJ=GJ 4. Reflexive Property of Congruence

5. AlGJ=AHJG 5 ASA

6. IG=HJ 6. CPCTC

E

13. Given: ABLAD and DELAD; Cisthe midpoint of BE A /i

I £ 5
Prove: AABC =aDEC !/
Statements. © . . Reasons :

ABL AD and DE.L AD

1. 1. Given

2. ZAand 2D are right angles 2. Definition Qf Perpendicular Lines
3. LA=4D 3. Right Angle Congruence Thm.

4. Cis the midpoint of BE 4, Given

5. BC=CE 5. Definition of Midpoint

6, ZACB= ZLECD 6. Vertical Angle Congruence Thm.
/. AABC =ADEC 7.

AAS.

14. Given: AE = CE AB CD ElsthemzdpomtofBD
 Prove: AEAB=AECD '

Statements Reasons
1. AE=CE : 1. Given -
2. AB=CD 2. Given
3. Eisthe mldpomt of BD 3. Given
4 BEZED 4 Definition of Midpoint
5. AEAB=z=AECD 5. §5§
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